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Figure 3-figure supplement 1. Wood’s plots comparing the relative deuterium uptake of SecYEG while bound to SecA (AMPPNP-ADP), showing: (a) SecY (b) SecE and (c) SecG after incubation at 25C in deuterated solvent for 15 seconds, 1, or 5 minutes. The dotted lines represent the 99% confidence interval, which indicates the level of difference of deuterium uptake between the two compared states is statistically significant. Bars represent individual peptides. Bar length corresponds to peptide size. Red and blue coloured bars indicate statistically significant deprotected or protected peptides, respectively.
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